www . yesterdaysmathsexam.com

Summer 2019 Paper 2 Q8
1 (a) Write 0.00562 in standard form.
(¢))
(b) Write 1.452 x 10° as an ordinary number.
1)

(Total for Question 1 is 2 marks)

Autumn 2017 Paper 3 Q7

2 Work out (13.8 x 107) x (5.4 x 107'?)
Give your answer as an ordinary number.

(Total for Question 2 is 2 marks)

Summer 2017 Paper 1 Q8

3 (a) Write 7.97 x 10°® as an ordinary number.

(b) Work out the value of (2.52 x 10°) = (4 x 107%)
Give your answer in standard form.

(Total for Question 3 is 3 marks)
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Summer 2017 Paper 2 Q10
4 The table shows some information about eight planets.
Planet Distance from Earth (km) Mass (kg)
Earth 0 5.97 x 10*
Jupiter 6.29 x 108 1.898 x 10%
Mars 7.83 x 107 6.42 x 10%
Mercury 9.17 x 107 3.302 x 10%
Neptune 4.35 x 10° 1.024 x 10%*
Saturn 1.28 x 10° 5.68 x 10%
Uranus 2.72 x 10° 8.683 x 10%
Venus 4.14 x 107 4.869 x 10*
(a) Write down the name of the planet with the greatest mass.
______ _(1_) B
(b) Find the difference between the mass of Venus and the mass of Mercury.
...................................................... kg
(1)
Nishat says that Neptune is over a hundred times further away from Earth than Venus is.
(c) Is Nishat right?
You must show how you get your answer.
(2)
(Total for Question 4 is 4 marks)
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fw
5 T= ?
w=56x1073

d=14x10*

(a) Work out the value of 7.
Give your answer in standard form correct to 3 significant figures.

w is increased by 10%
d is increased by 5%

Lottie says,
“The value of T will increase because both w and d are increased.”

(b) Lottie is wrong.
Explain why.

(Total for Question 5 is 4 marks)
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Summer 2019 Paper 3 Q11

In May 2019, the distance between Earth and Mars was 3.9 x 107 km.

In May 2019, a signal was sent from Earth to Mars.
Assuming that the signal sent from Earth to Mars travelled at a speed of 3 x 10° km per second,

(a) how long did the signal take to get to Mars?

................................................. seconds
(2)
The speed of the signal sent from Earth to Mars in May 2019 was actually less than
3 X 10° km per second.
(b) How will this affect your answer to part (a)?
(1)

(Total for Question 6 is 3 marks)
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Summer 2020 Paper 1 Q9

7  Write these numbers in order of size.
Start with the smallest number.

6.72 x 10° 67.2x10* 672 x 10* 0.000672

(Total for Question 7 is 2 marks)

Summer 2021 Paper 3 O3

8 (a) Write 4.5 x 10° as an ordinary number.

1)
(b) Write 0.007 in standard form.
1)
(¢c) Work out 4.2 x 10° + 5.3 x 102
Give your answer in standard form.
(2)

(Total for Question 8 is 4 marks)
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Autumn 2018 Paper 2 Q7
9 D = ULWHIKH QXPEHU LQ VIDQGDUG IRUP
3 -2
E =RUNRXI 32x10° +5.1x10
43x10™
*LYH \RXU DQVZHU LQ WIDQGDUG IRUP FRUUHFH IR VLIQLILFDQN ILIXUHV
7RID0 IRU 4XHWILRQ 9 LV PDUNV
L J
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7 Work oXt (3.42 x 107) + (7.5 x 107)
GiYe \oXr ansZer in standard form.
(7RWD0 IRU QXHWILRQ OO LV 2 PDUNY)
\_ _J




www.yesterdaysmathsexam.com

Autumn 2019 Paper 3 Q7

00 (a) WUille 32460000 iQ VWaQdaud fRUP.

(b) Wauille 4.96 x 10~ aV aQ RUdiQaU\ QXPbel.

AVPa ZaV aVked IR cRPSale Wlhe fRIIRZiQg WZR QXPhbelV.

A=6.212x10® aQd B=4.73x10°
She Va\V,

36.212 iV biggel thaQ 4.73 VR A iV biggel lhaQ B.”

(c) IVAVPa cRulech?
YRX PXVii giYe a UeaVRQ fRU \RXU aQvZel.

(TRWDO IRU QXHWVILRQ OO LV 3 PDUNV)
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(a) Write 6.75 x 107 as an ordinary number.

2.56x10% x 4.12 %1073

1.6 x 1072
Give your answer in standard form.

(b) Work out

(Total for Question

Autumn 2022 Paper 3 Q9

is 3 marks)

~
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Summer 2022 Paper 1 Q4

D = UK u " DVDQ RUGLQDU\ QXPEHU

(@9)
E = ULH LQ VIDQGDUG IRUP
1
F zRUINRXI wu u u T
*LYH \RXU DQVZHU LQ VIDQGDUG IRUP
()

(Total for Question is 4 marks)




